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Question 1b

Give three features of the music played by the sitar. [3]

Sample answer 1

Commentary
This response gained full marks. 

This question is marked by giving one mark for each correct 
answer from the mark scheme. 

The candidate has learnt the features of this genre very well. 
They have used their knowledge and supported it with aural 
perception skills in their answer. 

The ticks identify the key words that have gained credit.  In 
this style the melodic line is improvised around a raga. The 
candidate has heard these features within the extract and has 
also recognised the use of sliding between the notes by the 
performer. 

Sample answer 2

Commentary
This response gained 0 marks. 

This question is marked by giving one mark for each correct 
answer from the mark scheme. 

The candidate has not understood the basic principles of this 
style and has answered with points that are too vague or that 

are not relevant. The answers do not address the features of 
what the sitar actually plays. The answer states when the sitar 
plays, how loudly it plays against the other instruments and 
what its role is, none of which have any relevance to the actual 
question. 

3 marks

0 marks
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Question 1c

Give four features in the first section of the music that help to describe the fight. [4]

Sample answer 1 and 2

Commentary
Both of these responses received full marks. 

This question is marked by giving one mark for each correct 
answer from the mark scheme. 

The first response is concise and simply lists four features 
that occur in the extract that help to describe the fight. The 
second response also does that but adds far more supportive 
detail about the fight scene which is not actually necessary in 
this case. Whilst the second answer is detailed and provides 
perspective the question simply asks for features of the music 
and so no other information is required.    

Another point to note here is that although both candidates 
recognise the correct tempo and dynamic for the music, one 
uses musical terminology and the other does not. Whilst it is 
always good to see the use of the correct musical language, in 
a question of this nature it is not necessary and normal English 
words are quite acceptable.  

4 marks

4 marks
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Sample answer 3

Commentary

This response gained one mark. 

This question is marked by giving one mark for each correct 
answer from the mark scheme.

The first point here has used inappropriate musical terminology 
and so receives no mark. Dynamics are not fast so it is unclear 
what the candidate is actually referring to. The second answer is 
an inaccurate statement; the music does not get faster. The 

third answer is correct and so receives one mark. The fourth 
answer is simply a single instrument name. More detail or 
context as to why this instrument has been named is required 
in order to gain credit. Whilst detail of the scene is not required 
some supportive detail of the nature of the instrument or how 
the instrument is used to help to describe the fight is necessary 
here.  

1 mark
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Question 2b

Give three features of the solo voice that are typical of this style. [3]

Sample answer 1 and 2

Commentary
These responses both received full marks. 

This question is marked by giving one mark for each correct 
answer from the mark scheme.

A lot of very good answers were seen to this question from 
candidates of all ability ranges. Here are two such examples 
which show excellent aural perception. There were many 
answers within the mark scheme for this question and these 
two responses show six of the possibilities.  

3 marks

3 marks
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Question 2h

Describe the steps and movements of this dance which are reflected in the music heard. [3]

Sample answer 1 and 2

Commentary
These responses both received 0 marks. 

This question is marked by giving one mark for each correct 
answer from the mark scheme.

These answers are too vague and could refer to any dance from 
the area of study. The responses need to focus on the music 
from the extract which in this case was Bhangra and write 
about the steps and movements of this dance in particular.

0 marks

0 marks
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Sample answer 1 and 2

0 marks

0 marks

Commentary
These responses both received 0 marks. 

This question is marked by giving one mark for each correct 
answer from the mark scheme.

Both of these responses are either too vague or inaccurate. In 
the first response fast moving is vague and partner dance is 
inaccurate. The second response does not talk about the dance 
steps at all and so is an irrelevant answer and not worthy of 
credit.

Sample answer 4

3 marks

Commentary
These responses both received full marks. 

This question is marked by giving one mark for each correct 
answer from the mark scheme.

Both answers here show that the candidates have a good 
knowledge of the dance steps and movements of this style. 
The first is clear and accurate and gives exactly enough correct 
information to gain full marks. The second answer is over and 
above what is required but unfortunately only three marks are 
available for this question. 

3 marks
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Question 3a
 

This film music extract is called The Hill of Sorcery. It starts calmly and gradually introduces an evil 
wizard. Write a paragraph, using sentences, explaining how the music conveys this scene. You may wish 
to refer to instruments, rhythm, melody, texture, tempo and any other features that are relevant.   [3]

Sample answer 1

Commentary

This response gained full marks. 

This question is the only question on the paper that is 
marked using bands or levels and where the quality of 
written communication is taken into account. There are 
three levels of response: 1 – 3 is a limited range of points 
that may lack organisation, 4 – 6 is several points showing 
some understanding, some organisation and some links to 
the programme and 7 – 9 needs a good range of points that 
show understanding and that are clearly expressed. It should 
be made clear at this point that not everything that is in the 
mark scheme needs to be written in order to gain full marks. 
The marks scheme outlines the events within the music to help 
the examiner but as the candidate only hears the extract four 
times it would be impossible for all the points made in the mark 
scheme to be written about by the candidate. An answer that 
has some of the points from the mark scheme and that shows 
a good level of understanding of the music with some accurate 
and appropriate detail is what is required to gain marks in the 
top band. 

The answer here has been written by a candidate but in order 
to be able to highlight the various points that have been made 
it has been word processed. The yellow highlights denote 
musical information and the green highlights denote the links 
to the programme.  

This response is expressed clearly and shows a chronological 
understanding of the music. The answer starts in a very detailed 
way but does become a little more vague as it progresses. This 
is typical as candidates find it hard to sustain the level of detail 
throughout their answer. This does not preclude them from 
full marks if the detail at the beginning is good and further 
information is accurate although a little more basic. 

This candidate starts with many excellent points; tremolo 
strings, melody by the violins, minor, added instruments, a 
melody by the clarinet, a crescendo and timpani roll. There is 
use of named instruments and detail of how they play, musical 
language is used and alongside this links to the programme are 
given. Some more accurate observations follow with excellent 
aural perception, particularly of the semiquavers against the 
triplets. The last part is more general but none the less an 
accurate account of what happens. 

This answer does not contain all the points from the mark 
scheme by any means but it is clear that the candidate has 
listened to this music and heard a great many features and 
expressed them clearly.

9 marks

The extract begins quietly with tremolos in the string section played by the cellos to add tension with a simple melody 
played by the violins. This is calm but soon disturbed by the bass and brass which change the tonality to minor and add 
texture and dynamics. Here we hear the liet motif played by the clarinet, before a large crescendo aided by a timpani roll 
that makes it scary as we meet the evil wizard. At this point the tempo accelerates from legato largo to vivace and the 
rhythms become shorter and woodblock play repeated rhythms. The string section play semiquavers while the brass play 
triplets that create cross rhythms that make the piece unsettling and evil like the wizard. Accidentals are used throughout 
the piece but more are introduced as the wizard appears. The shape of the melody throughout begins with a small range 
and grows as the piece progresses. 
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Sample answer 2

5 marks

Commentary
This response gained five marks.

This question is the only question in the paper that is marked 
using bands or levels and where the quality of written 
communication is taken into account.

The candidate here writes with an extremely good level of detail 
about the music but fails to give any links to the programme. 
This means that in line with the mark scheme only 5 marks are 
available. Had this candidate added points regarding how the 
music links with the progression of the story then this would 
have been a top band answer. 
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Sample answer 3

Commentary
This response gained four marks.

This question is the only question in the paper that is marked 
using bands or levels and where the quality of written 
communication is taken into account.

The candidate starts quite well with correct information 
about the dynamic, articulation and tempo. There is no detail 
regarding the initial string melody and accompaniment apart 
from the idea that it is quiet, legato and slow. Naming specific 
instruments and giving detail of what sort of rhythms are used, 

the shape of melody, the range of the melody and  the style of 
the accompaniment that they hear would make this a far better 
answer. Very general statements are then made regarding the 
progression of the music with the recognition that the music 
gets louder, thicker and percussion is added. Whilst this all is 
correct it is all limited in specific detail. The candidate then goes 
on to explain how this portrays the story and then states that 
the end provides a contrast. Unfortunately the candidate does 
not explain or describe the contrast that they hear and no detail 
is given. 

This is a middle level response.   

4 marks
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Sample answer 4

Commentary
This response gained three marks.

This question is the only question in the paper that is marked 
using bands or levels and where the quality of written 
communication is taken into account.

This answer was typical of a lot of candidates. They wrote a few 
basic points; strings start at a moderate speed, there is 

a crescendo and accelerando with use of brass instruments 
and a minor feel. The flute is inaccurate although a woodwind 
instrument is added. There is some accurate aural perception 
but it is very limited despite the fact that musical vocabulary 
has been used.

This is clearly a bottom band answer. 

3 marks
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Question 4a

Using the given rhythm, fill in the missing notes in bars 2,3, 4 and 5. [10]

Sample answer 1

Commentary
This response gained nine marks.

This question was marked in the following way: Every correct 
note gained one mark and every correct shape gained one 
mark. Candidates often gained credit with a mixture of correct 
notes and shapes:

This candidate gained credit for nine correct notes. Only the 
second note is wrong.  

9 marks
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Sample answer 2 and 3

8 marks

Commentary
These candidates gained eight and seven marks respectively. 

This response gained nine marks.

This question was marked in the following way: Every correct 
note gained one mark and every correct shape gained one mark. 

These candidates gained their marks from a mixture of correct 
notes and correct shapes. The first response has four correct 
notes – the first one and the last three – and four correct shapes 
between the notes A and D in bars three and four. This makes 
eight marks in total. The second response has 4 correct shapes 
at the beginning of bar 3 and the last three notes are correct 
making a total of seven marks. 

7 marks

Sample answer 4

3 marks

Commentary
This candidate gained three marks for the last three notes which 
are correct. 

Examiners always mark to the candidates benefit where 
possible and so in this case the first section is completely 
ignored and the last three notes, which are clearly placed by the 
candidate, are given credit. 



EXEMPLAR CANDIDATE RESPONSE

14

GCSE MUSIC 

Sample answer 5

4 marks

Commentary
This candidate gained four marks. 

Unfortunately many candidates did not understand or were not 
able to write using leger lines. 

In this answer the first note is unclear and assumed to be an 
incorrect E; there is a correct shape between notes 2 and 3 in 
bar 3 but the rest of the notes, although move down, do not 
have the correct number of leger lines and so are inaccurate 
and not able to gain credit. The last 3 notes are correct. One 
correct shape and three correct notes give a total of 4 marks. 
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Question 4b (ii)

Circle three notes that are next to each other and that move chromatically.  [1]

Sample answer 1

Commentary
All three candidates gained 0 marks. 

Few candidates understood the concept of chromatic notes. As 
in the first example the candidate appears to have circled three 
random notes. In the second example they have recognised 
that chromatic notes should move stepwise but have not 

actually realised that there would have to be an accidental on 
one of the notes for them to be able to be chromatic. In the 
third example the candidate has not remembered to apply the 
correct rule to an accidental within a bar so both the G’s would 
be sharp not just the first one.  

0 marks

0 marks

0 marks
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Question 5c (i)

Using the grid below, give differences and/or similarities for each feature as it is used in both extracts. 

(i) The tempo  [2]

Sample answer 1

Commentary
This candidate gained full marks. 

Whilst the initial answers from this candidate are incorrect the 
statement regarding the tempo not changing in both extracts is 
completely accurate and will be credited. 

0 marks
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Question 5c (ii)

Using the grid below, give differences and/or similarities for each feature as it is used in  
both extracts. 

(ii) The bass line [4]

Sample answer 1 and 2

4 marks

4 marks
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Commentary
Both these candidates received full marks. 

Marks are awarded by giving one mark for each correct 
answer from the mark scheme, but because this question 
is a comparison question both extracts must be referred to 
correctly to receive full marks and. The marks can be awarded 
equally ie. 2 marks for each extract, or there can be three marks 
for one extract and one for the other or visa versa. 

Candidates often approach this style of comparison in different 
ways. The first candidate has written across the box in more of a 
prose style whilst the second has separated the box into extract 
A and extract B, either approach is perfectly acceptable. 

These candidates gained marks for straight forward correct 
aural observations; they both stated that extract A and extract 
B had a walking bass, the first went on to correctly identify the 
instruments playing and the second recognised that extract A 
did not change whilst extract B did. 
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Question 5c (ii)

Using the grid below, give differences and/or similarities for each feature as it is used in both extracts. 

(i) The tempo 
(ii) The bass line [4]

Sample answer 1

2 marks

Commentary
This answer shows how a candidate can gain 3 marks for one 
extract and just one for the other. It should be noted that 
however many correct features were written about one of the 
extracts if there was no correct information about the other 
extract then full marks is not possible. 
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Question 6d

Give four features of the music played after the downward leap that show the man rushing around, 
perhaps playing a joke on someone.  [4]

Sample answer 1

Commentary
This response gained full marks. 

This question is marked by giving one mark for each correct 
answer from the mark scheme. 

In a response such as this examiners mark positively and where 
there are inaccurate statements these are largely ignored. 

Hence the fact that point three has been given no credit does  
not matter and the correct answers that follow are credited. 
Where simple ‘right or wrong’ questions are asked, particularly 
one mark questions, this approach is not possible, but where 
aural perception of a specific nature in a longer question is 
required it is. 

4 marks

Sample answer 2 and 3

4 marks

4 marks
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Commentary
These responses both received full marks. 

This question is marked by giving one mark for each correct 
answer from the mark scheme. 

Both of these responses give clear and concise answers from 
the mark scheme. They do not give any comment on the man 
that the music from the extract is about but that is not required 
here so a concise answer is probably preferable.  

Sample answer 4 and 5

0 marks

0 marks

Commentary
These responses gained 0 marks. 

This question is marked by giving one mark for each correct 
answer from the mark scheme. 

Both of these responses are vague and/or inaccurate. 
Candidates are not always good at expressing exactly what they 
mean and they are not always able to successfully describe 

what they hear. This is a skill that needs to be practised and 
built up over time. The first candidate’s statement that the notes 
change is true of all music. More specific detail on how the 
notes change is required. The second and fourth points are too 
vague and the third inaccurate. The second candidate also gives 
inaccurate information in the first, second and third points. The 
second point is too vague – what the rhythm of the strings is 
actually like should be addressed.   



Th
e 

sm
al

l p
ri

nt

We’d like to know your view on the resources we produce.  By 
clicking on the ‘Like’ or ‘Dislike’ button you can help us to ensure 
that our resources work for you.  When the email template pops 
up please add additional comments if you wish and then just click 
‘Send’.  Thank you.

If you do not currently offer this OCR qualification but would like to 
do so, please complete the Expression of Interest Form which can be 
found here: www.ocr.org.uk/expression-of-interest

OCR Resources: the small print
OCR’s resources are provided to support the teaching of OCR 
specifications, but in no way constitute an endorsed teaching 
method that is required by the Board and the decision to use 
them lies with the individual teacher.  Whilst every effort is made 
to ensure the accuracy of the content, OCR cannot be held 
responsible for any errors or omissions within these resources. We 
update our resources on a regular basis, so please check the OCR 
website to ensure you have the most up to date version.

© OCR 2016 – This resource may be freely copied and distributed, 
as long as the OCR logo and this message remain intact and OCR is 
acknowledged as the originator of this work. 

OCR acknowledges the use of the following content:
Square down and Square up: alexwhite/Shutterstock.com

Please get in touch if you want to discuss the accessibility of 
resources we offer to support delivery of our qualifications: 
resources.feedback@ocr.org.uk

OCR is part of Cambridge Assessment, a department of the University of Cambridge. 
For staff training purposes and as part of our quality assurance programme your call may 
be recorded or monitored. © OCR 2016 Oxford Cambridge and RSA Examinations is a 
Company Limited by Guarantee. Registered in England.  
Registered office 1 Hills Road, Cambridge CB1 2EU. Registered company number 
3484466. OCR is an exempt charity.

General qualifications
Telephone 01223 553998
Facsimile 01223 552627
Email general.qualifications@ocr.org.uk

ocr.org.uk/gcse
OCR customer contact centre

We will inform centres about any changes to the specification. We 
will also publish changes on our website. The latest version of our 
specification will always be the one on our website  
(www.ocr.org.uk) and this may differ from printed versions. 

Copyright © OCR 2016. All rights reserved.

Copyright 
OCR retains the copyright on all its publications, including the 
specifications. However, registered centres for OCR are permitted to 
copy material from this specification booklet for their own internal use.

http://www.ocr.org.uk/expression-of-interest
mailto:resources.feedback%40ocr.org.uk?subject=
mailto:resources.feedback%40ocr.org.uk?subject=I%20liked%20the%20GCSE%20Music%20Exemplar%20Candidate%20Response%20B354%20Listening%20Exam
mailto:resources.feedback%40ocr.org.uk?subject=I%20disliked%20the%20GCSE%20Music%20Exemplar%20Candidate%20Response%20B354%20Listening%20Exam
mailto:general.qualifications%40ocr.org.uk?subject=
http://www.ocr.org.uk/alevelreform
http://www.ocr.org.uk

	Question 1b
	Question 1c
	Question 2b
	Question 2h
	Question 3a
	Question 4a

